) ) ) . ) k, if-m/2<x<m/2
(a)Find the Fourier series of periodic function f(x)= . (b)Show

0, if t/2<x<3m/2
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1 3n/2

k

1 pn2 /2
a0=; L f(X)dx:;J._n/2 k-dx=;-x7n/2=k
a —lJ-WZ f(X)cosnde—lJ.n/2 kcosnxdx—i-sinnxm2 —L[sinm—sin(—m)]
"ol md-n/2 nm 2 nr 2 2
0, nisiHEL
n-1
=%SIHM= %’ n=1,5,9,... =2k(_—1)
nm 2 nm 2n-D=n
2k
-—, n=37,11,--
nmw
bn:l e f(x)sinnxdx:l " ksinnXdX:—L-cosnXm =0
T —m/2 TC —n/2 nm —n/2
k 2k & (D"
f(X)=—+—) ———cos(2n—-1)x
) 2 ﬂ:;2n—1 ( )
Sx=0fRA
- + © _ n-1
M:5+2_k ( 1) :>k+kzk+%(l_l+l_l+...)
2 2. w45 2n-1 2 2 0@IAneac d1y
k 2k1 1 1 1 I 1 1 1 T
_:_(___+___+...)3___+___+...:_



